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Lamp. A 

Simulasi Keadaan Stabil 

 

 

 

clc 

clear all 

close all 

b1=0.5 

b2=-b1/(1+2*b1);[(1+b1)/(1-b1*b2) (1+b2)/(1-b1*b2)] 

n=20;dx=.01; 

bbx=(1+b1)/(1-b1*b2)-.05;bax=(1+b1)/(1-b1*b2)+.05; 

bby=(1+b2)/(1-b1*b2)-.05;bay=(1+b2)/(1-b1*b2)+.05;sx=(bax- 

bbx)/n;sy=(bay-bby)/n; 

[N,M]=meshgrid(bbx:sx:bax,bby:sy:bay); 

dN=N.*(1-N+b1*M); 

dM=M.*(1-M+b2*N); 

quiver(N,M,dN,dM,1) 

axis([bbx bax bby bay]) 

for iterasi=1:4; 

[u,v]=ginput(30); 

u=u';v=v'; 

for k=0:1000; 

hold on 

dN=u.*(1-u+b1*v); 

dM=v.*(1-v+b2*u); 

Nn=u+dx*dN;Mm=v+dx*dM; 

hold on 

gambarkan(u,v,Nn,Mm) 

axis([bbx bax bby bay]) 

pause(.001) 

u=Nn;v=Mm; 

end 

end 
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Lamp. B 

Simulasi Keadaan Tidak Stabil 

 

clc 

clear all 

close all 

b1=-2.5 

b2=-2;[(1+b1)/(1-b1*b2) (1+b2)/(1-b1*b2)] 

n=20;dx=.01; 

bbx=(1+b1)/(1-b1*b2)-.05;bax=(1+b1)/(1-b1*b2)+.05; 

bby=(1+b2)/(1-b1*b2)-.05;bay=(1+b2)/(1-b1*b2)+.05;sx=(bax- 

bbx)/n;sy=(bay-bby)/n; 

[N,M]=meshgrid(bbx:sx:bax,bby:sy:bay); 

dN=N.*(1-N+b1*M); 

dM=M.*(1-M+b2*N); 

quiver(N,M,dN,dM,1) 

axis([bbx bax bby bay]) 

for iterasi=1:4; 

[u,v]=ginput(30); 

u=u';v=v'; 

for k=0:1000; 

hold on 

dN=u.*(1-u+b1*v); 

dM=v.*(1-v+b2*u); 

Nn=u+dx*dN;Mm=v+dx*dM; 

hold on 

gambarkan(u,v,Nn,Mm) 

axis([bbx bax bby bay]) 

pause(.001) 

u=Nn;v=Mm; 

end 

end 
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Lamp. C 
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Lamp. D 
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Lamp. E 

 

 


